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2. Predict the particles.
that will form in
solution

MY ClC.Cl
‘C"QOH

Ca (OH) ; aq) Caz* 0” 5 OH p

3. Wbmliquidsmimpum.dmkfmzingpoims ')tlmn‘no:mal. ' ’
4. When liquids aze impure, their boiling points are (lower dﬁb A

subsuince | boflingpSit [°C] | inelting point [°C]

boron 3675 2079

1 ungsten 5660 3410
oxygen -182 -218
5. If tungsten s made into an alloy by adding copper, what would be a possible boiling point for the

alloy? \
A 5500 b. 5660 \ & 370 5700

6. If boron were made into a solution by mmnguwnhN,whnwouldbc:possﬁ:lebodmgpomt for

the solution?
a. 3600 b. 3675 - 3700
‘ e —
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7. You have ams of aluminum nitrate and want to make a 5L of
solution. What concentration could you make?
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8. What is the molarity of the solution produced when{i4s g pof

dium chloride is dissolved in sufficient water to prépare 2.75
{ L/of solution?
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9. How many grams of potassium C are needed to prepare 0.750

of 1.50 M KC1?

4 . é/w\k;\cw»\- "o ( 0.50 MXO.—:‘SO L) =
= mdes = | | (25 wes

Pearromes to
wole$ = M‘ L
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10. To preéar \32;5 L/joff 2.50 M botassium hydroxidd, how many
grams of potassium hydroxidé& must be used?

.’\’l :(l%\ ma\ =N\ e pm\gg = (2 -60!%([0 .Sg t
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For each pair of quantities mark < , =, or >. \\\
Example: ::;-Iudu»hlhann > nnhnpuunucaamdhuo.uun

11. the melting point of pure ice 2 The melting point of salty ice
12. The boiting point of a 0.100 M m< The boiling point of a 0.200 M solution of
solution of NaCl NaCt
13. The melting paint of a 0.100 M S The melting point of a 0.200 M solution of
solution of NaCl - s NaCl R
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; | In the beaker on the
®P P | | rght dawaNa+

and a Cl- ion.

M @, Draw the same

= number of water
O _Bp molecules as the
i __v beaker on the left
w 0.-0-TF and what direction
k each would face.
Pure water An;quooussolndo of NaCl_,
2. If4 drochloncaadutli!med&om.’odOmLto‘JOOmL,whnsthc oncentration?

MV (455w X 36.
e @] "

3. What is& m y if 0.65 moles CaCl, in 750 mL of solution are mixed?

= L Govutun M- T‘?%%"l )= 0.87

. InNaBr  bromide is the ( cation / anion ) and sodium is the ( cation / anion )

=T

= R 2 :
| eubstande helme poont FCY - Lnelting pofie [“(‘}

L hBoton [ 3675 2079 3533
‘tingsten 3660 340
LOXNYECH | ~i82 ~218

? lfoxygmismtxedwuhanothuys,whlwmldbea

a. -184°C b, -182°C _
. If mngsten weee made into a solution by mixing it with iron what would be a possih

oz the solotiond '
d. 5650 e 5660 @ :
N
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7. Ifzgu took 455 mL of 0.110M solubc\)/n and diluted it to 790, mL, what wo ew concentration be?
MV, _ (AL ‘45'5-'- ,
MMy o =M, Om,
(’Ho~,t>

8. If you took 3.55L of unknown strength solution and diluted it to 5.0L that had a concentration of 0.250M,
what was the original concentration?

Mo V2 _ (0.250uY(5.02)
@"FNL\J» MgV, (3.551)

M, =
9, If you dumped one mole each of the following compounds, which would lower the melting point of
frozen snow the most?
s KNO, Tweporticles answers Hiis lowers it fhe mest

b. ANOy), Tour Pocticles =
10. In FeCO,,,  iron i the (Gop / anion ) and COjs the (cation /(kniog) %,
11. The following are all water based solutions. Rank the solutions from ¢ t hezm; point (1) to hughest
freezing pomt (5) v
/‘72. 0.5M KNOy,, +we puileles o sol e X
<! ‘ 0.5M M(No,),,,, S Solte penicks
e | < ]; pure water noag
a2 05MNaBr,, fwe Sovk perdide
e _H_osMcHOH, o€ Soni posice
12. How many grams of ammenium chloride are contained fh 300. mt of a 0.875 M solution? ,

D) e 0 .%00 L~ 0. u%é_
N\:@L.-Q Mol = M=L Mol = (0 W;“XO gOOL) O Zé%wq N mo!

13.How many moles of nitrate ions are I(50.0 ml of a 1.9850 M magnesium nitrate solution? g
0.c5c0 L

= ( 3850 M)D. 0Seel)
malz 009925 vl Mooy,

Determine the molarity of the following solutions. Show your work and remember that the unit on
answer must be in moles/Liter = M.

M@ ol =MaL
I

14, What is the molarity if 3.00 moles of QPZO; dissolved to make 2.0 liters of solution?

~ 3.00 ma) 5
- ﬁ&- / = = l -
N ™ (2.0L) M .




